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General instructions:

(i) All questions in both the sections are compulsory,

(i) Marks for questions are indicated against each.

(iii) Questions carrying 1 mark for each part are required to be answered in one
sentence each.

(iv) Questions carrying 3 marks are required to be answered not exceed 60
words each.

(v) Questions carrying 4 marks are required to be answered not exceed 70
words each.

(Vi) Questions carrying 6 marks each are required to be answered not exceed
100 words each.




(vii) Answers should be brief and to the point and the above word limits should
be adhered to as far as possible.

(viii) All parts of a question should be answered at one place.

(Ix) Value Based Questions are given with *’

Section -A
Q1.What are Miracle Seeds? (1)
Q2.What is Head Count Ratio? (1)
Q3.What is minimum calo rie intake estimated for urban areas? (1)
Q4.Define:Organic Farming. (1)
Q5.State any three benefits of non-institutional sources of credit. 3)
Q6.What do you understand by drain of Indian wealth during the colonial period? 3)
Q7.How does expenditure on information act as a source of Human Capital Formation? 3)
Q8.Mention the major functions of WTO. 3)
Or
Briefly discuss the NREGA -2005.
*Q9.How can you increase standard of living of people ? (4)
Q10.Discuss the trade and investment policy reforms introduced under the NEP of 1991. (4)
Q11.Is there any relationship between unemployment and poverty? Explain. (4)
Or
Discuss the achievement of Green Revolution.
QI12. Discuss the role of NABARD rural credit. 4)

Q13.What is meant by Globallisation? Mention four changes made by globallisation of the Indian Economy.(6)

Q14.Discuss the various causes of poverty. (6)
Q15.Discuss the non-institutional sources of rural credit. (6)
Or

Discuss the importance of Human Capital Formation.

Section —-B
Q16.Define :Economic Activity. (1)
Q17.Define Statistical Enquiry. (1)
Q18.Name the commonly used measure of central tendency. (1)
Q19.Define:Mode. (1)
Q20.Calculate the mean of the following distribution of daily income of 150 families. . 3)
Income(Rs) No. of families
More than 75 150
More than 85 140
More than 95 ° 115
More than 105 95
More than 115 70

More than 125 60



More than 135 40

More than 145 25

Q21.Write three merits and demerits of Median. 3)
Q22.Following are the different size and number of shoes in a shoe shop. Calculate lower and upper quartile.(4)
Size of Shoe No. of Shoe

4.5 4

5 8

5.5 12

6 15

6.5 20

7 35

7.5 50

8 40

8.5 20

9 15

9.5 24

10 12

10.5 5

11 3

Q23.Explain four principles of drafting a table with example. (4)
Q24. The arithemetic mean of a series of 40 items was calculated by a student as Rs.265.But while calculating
it an ite m of Rs. 115 was misread as Rs.150.Find the correct arithemetic mean. (6)
Q25 Calculate median and Q3 using the following data: (6)

Mid Point Marks: 5 15 25 35 45 55 65 75

No. of students: 3 10 17 7 6 4 2 1
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General Instructions :

(i) All questions in both the sections are compulsory,

(i) Marks for questions are indicated against each.

(iii) Questions carrying 1 mark for each part are required to be answered in one
sentence each.

(iv) Questions carrying 3 marks are required to be answered not exceed 60
words each.

(v) Questions carrying 4 marks are required to be answered not exceed 70
words each.

(Vi) Questions carrying 6 marks each are required to be answered not exceed
100 words each.

(vii) All parts of a question should be answered at one place.

Part— A

Q1.The full form of GBD: (1)
(a) Global Burden of Disease (b) Global Barrier of disease
(b) Globe Burden disease (d) None of these

Q2.Which of these is a biotic element: a1
(a) Air (b) Birds
(b) Both (a) and (b) (d) None of these
Q3.Discuss the importance of credit in rural development. A3)

Q4.Differentiate between commercial and non-commercial sources of energy. (3)
QS.Education is considered as an important input for the development of a nation.
How? (&)
Q6.Discuss three concepts of unemployment used by National Sample Survey

Organisation. A3)

Q7.Define:Sustainable Development and state the strategies needed to achieve

sustainable development. “4)
Q8.Explain the indicators of human development. “4)
Q9.Compare the demographic indicators of India and Pakistan. (6)

Q10.”People living in rural areas donot have sufficient health
infrastructure.”Comment. (6)

Q11.Explain the causes of unemployment. (6)



Part— B

Q1.The value exactly at the middle of a class —interval is called: a1
(¢) Class interval (b) Mid-Value
(d) Both (a) and (b) (d) None of these
Q2.Classes with zero frequencies are called: a1
(a) Class (b) Empty Class
(b) Nil Class (d) None of these
Q3.Upper limit of any class is: (1)
(a) Same (b) Different
(b) Both (a) and (b) (d) None of these
Q4.Calculate Arithmetic Mean of the marks: A3)
Students A B C D E F G H I J
Marks 85 60 50 75 55 40 55 70 45 65
QS.State any three merits and and demerits of mean. A3)

Q6.A cosmetic co. claims that its face cream improves the face complexion. On using it,

it was found incorrect. A3)
(i) Do you think such advertising is going to reap positive results in the long
run?

(ii)  Which values are being discarded?
Q7.Given below is the age of some students. Find out the median of their age.  (3)
20 16 19 14 10 22 11 9

Q8.From the data given below, construct the index number for the year 2006 on the

base of 1995 by Simple Aggregative Method. “4)
Commodities Rice Wheat Pulses Milk
Clothing

Price(1995) 200 300 400 2 4



Price(2006) 250 400 500 3 5

Q9.Calculate quartile deviation and its coefficient from the following data: “4)

55 60 70 90 90 110 120 130 145 145 155 170

Q10.Calculate Laspayere’s and Paasche’s Index number from the following data:(6)
pay

Commodities A B C D E
Base year price 8 4 10 12 3
Base year qty 100 60 20 25 5
Current year price 10 5 12 15 4
Current year qty 120 80 25 30 6
Q11.Calculate the coefficient of rank correlation from the following data: (6)

X 48 33 40 9 16 16 65 24 16 57

Y 13 13 24 6 15 4 20 9 6 19
Q12.The following table gives the distribution of monthly salary of 900 employees.
However ,the frequencies of the classes 40-50 and 60-70 are missing. If the median is

59.25,find the missing frequencies. 6)




